Michael Gil' Exponential stability conditions for non-autonomous differential equations with unbounded commutators in a Banach space

Czechoslovak Mathematical Journal, Vol. 73 (2023), No. 2, 355-366

Persistent URL: http://dml.cz/dmlcz/151662

Terms of use:

© Institute of Mathematics AS CR, 2023

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: *The Czech Digital Mathematics Library* http://dml.cz

EXPONENTIAL STABILITY CONDITIONS FOR NON-AUTONOMOUS DIFFERENTIAL EQUATIONS WITH UNBOUNDED COMMUTATORS IN A BANACH SPACE

MICHAEL GIL', Beer-Sheva

Received May 18, 2021. Published online January 23, 2023.

Abstract. We consider the equation dy(t)/dt = (A+B(t))y(t) $(t \ge 0)$, where A is the generator of an analytic semigroup $(e^{At})_{t\ge 0}$ on a Banach space \mathcal{X} , B(t) is a variable bounded operator in \mathcal{X} . It is assumed that the commutator K(t) = AB(t) - B(t)A has the following property: there is a linear operator S having a bounded left-inverse operator S_l^{-1} such that $\|Se^{At}\|$ is integrable and the operator $K(t)S_l^{-1}$ is bounded. Under these conditions an exponential stability test is derived. As an example we consider a coupled system of parabolic equations.

Keywords: Banach space; differential equation; linear nonautonomous equation; exponential stability; commutator; parabolic equation

MSC 2020: 47D06, 35K51, 35B35, 34G10

1. INTRODUCTION AND STATEMENT OF THE MAIN RESULT

Throughout this paper, \mathcal{X} is a Banach space with a norm $\|\cdot\|$ and the identity operator *I*. By $\mathcal{B}(\mathcal{X})$ we denote the set of bounded linear operators in \mathcal{X} . For a linear operator *C*, Dom(*C*) is its domain, $\sigma(C)$ is its spectrum, and $\alpha(C) = \sup \operatorname{Re} \sigma(C)$. If $C \in \mathcal{B}(\mathcal{X})$, then $\|C\|$ is its operator norm.

Further, A denotes a generator of an analytic semigroup e^{At} on \mathcal{X} , and B(t) $(t \ge 0)$ is a variable bounded piece-wise strongly continuous operator mapping Dom(A) into itself for each $t \ge 0$.

The paper deals with the exponential stability conditions for the equation

(1.1)
$$\frac{\mathrm{d}y(t)}{\mathrm{d}t} = (A + B(t))y(t) \quad (t \ge 0).$$

DOI: 10.21136/CMJ.2023.0188-21

A solution to (1.1) for given $y_0 \in \text{Dom}(A)$ is a function $y: [0, \infty) \to \text{Dom}(A)$ having at each point t > 0 a strong derivative, at zero the right strong derivative, and satisfying (1.1) for all t > 0 and $y(0) = y_0$.

The existence, uniqueness and continuous dependence on initial vectors of solutions are due to Theorem II.3.4 from [14], since the operator B(t) is bounded, and maps Dom(A) into itself, and the operator A generates an analytic semigroup.

We will say that (1.1) is an exponentially stable equation if there are positive constants m_1 and δ_1 such that $||y(t)|| \leq m_1 e^{-\delta_1 t} ||y(0)||$ $(t \geq 0)$ for any solution y(t) of (1.1).

Certainly, (1.1) can be rewritten as equation

(1.2)
$$\frac{\mathrm{d}y(t)}{\mathrm{d}t} = C(t)y(t)$$

with the corresponding operator C(t), but C(t) in the present paper has a special form: it is the sum of A and B(t). This allows us to use the information about A and B(t) more completely than the theory of general equations (1.2).

The stability theory of abstract differential equations is well developed, cf. [1]–[9], [12], [15]–[18], etc. Mainly, equation (1.1) is considered as a perturbation of a stable semigroup generated by A. In paper [11], stability conditions for equation (1.1) have been established in terms of the commutator K(t) = AB(t) - B(t)A ($t \ge 0$). Besides, it was shown that stability conditions in terms of the commutator enable us to investigate equations with an unstable semigroup e^{At} . This fact gives us the conditions for the stabilization of systems with distributed parameters. Paper [11] deals with bounded commutators. The aim of this paper is to generalize the main result from [11] to the case when K(t) is unbounded.

Denote by $U_B(t,s)$ $(t \ge s \ge 0)$ the evolution operator of the equation

(1.3)
$$\frac{\mathrm{d}u(t)}{\mathrm{d}t} = B(t)u(t) \quad (t \ge 0)$$

and assume that there are real numbers b_0 and $c_0 = \text{const.} \ge 1$ such that

(1.4)
$$||U_B(t,s)|| \leq c_0 \exp[b_0(t-s)] \quad (t \geq s \geq 0).$$

For the recent solution bounds for the differential equations with bounded operators, see for instance [2]. It is also assumed that there is a linear operator S with $\text{Dom}(S) \supseteq \text{Dom}(A)$ having a bounded left-inverse one S_l^{-1} such that

(1.5)
$$J(S) := \int_0^\infty \|S e^{(A+b_0I)t}\| \, \mathrm{d}t < \infty$$

and

(1.6)
$$m(K(\cdot), S) := \sup_{t \ge 0} \|K(t)S_l^{-1}\| < \infty.$$

In addition, denote

$$J_0 := \int_0^\infty \| e^{(A+b_0 I)t} \| \, \mathrm{d}t.$$

Due to (1.5) we have

$$J_0 = \int_0^\infty \|S_l^{-1} S e^{(A+b_0 I)t}\| \, \mathrm{d}t \leqslant \|S_l^{-1}\| J(S) < \infty.$$

Now we are in a position to formulate the main result of the paper.

Theorem 1.1. Let conditions (1.4)–(1.6) and

(1.7)
$$c_0 m(K(\cdot), S) J(S) J_0 < 1$$

hold. Then equation (1.1) is exponentially stable.

This theorem is proved in the next section.

For example, if -A is sectorial and $\alpha(A) < \alpha_A < 0$, then as is well-known (see [13], Theorem 1.4.3, page 26) $\|e^{At}\| \leq m_A e^{\alpha_A t}$ ($m_A = \text{const.} \geq 1$; $t \geq 0$) and for any $\nu \in (0, 1)$,

$$\|(-A)^{\nu} \mathbf{e}^{At}\| \leqslant m_{\nu} t^{-\nu} \exp(-\delta_{\nu} t) \quad (0 < \delta_{\nu} \leqslant |\alpha_A|; \ m_{\nu} = \text{const.} \geqslant 1; \ t \geqslant 0).$$

So if $\alpha_A + b_0 < 0$ and $-\delta_{\nu} + b_0 < 0$, in the considered case

$$J_0 \leqslant m_A \int_0^\infty e^{(\alpha_A + b_0)t} dt = \frac{m_A}{|\alpha_A + b_0|}$$

and

$$J(S) = J_{\nu} := \int_0^\infty \|(-A)^{\nu} \mathrm{e}^{(A+b_0)t}\| \,\mathrm{d}t \leqslant m_{\nu} \int_0^\infty t^{-\nu} \mathrm{e}^{(b_0 - \delta_{\nu})t} \,\mathrm{d}t < \infty.$$

Note that

$$\int_0^\infty t^{-\nu} e^{(b_0 - \delta_\nu)t} dt = \frac{1}{(\delta_\nu - b_0)^{1-\nu}} \Gamma(1 - \nu),$$

where

$$\Gamma(1+x) = \int_0^\infty s^x e^{-s} ds \quad (x \in (-1,\infty))$$

is the Euler Gamma function. Thus,

$$J_{\nu} \leqslant \frac{m_A \Gamma(1-\nu)}{|\delta_{\nu} - b_0|^{1-\nu}}.$$

9	Б	7
0	J	1

Let us present an example of A satisfying (1.6). To this end recall that if A is a selfadjoint negative definite operator in a Hilbert space, then $||f(A)|| = \sup_{s \leq \alpha(A)} ||f(s)||$ for a function f bounded on $\sigma(A)$, cf. [14], and therefore, $||e^{At}|| = e^{\alpha(A)t}$ ($t \geq 0$), and

$$\|(-A)^{\nu} \mathbf{e}^{At}\| = \sup_{s \leqslant \alpha(A)} (-s)^{\nu} \mathbf{e}^{st} = \varphi_{\nu}(A, t) \quad (0 < \nu < 1),$$

where

$$\varphi_{\nu}(A,t) = \begin{cases} \left(\frac{\nu}{t}\right)^{\nu} \mathrm{e}^{-\nu} & \text{if } t \leq \frac{\nu}{|\alpha(A)|}, \\ |\alpha(A)|^{\nu} \mathrm{e}^{\alpha(A)t} & \text{if } t \geq \frac{\nu}{|\alpha(A)|}. \end{cases}$$

So if A is negative definite and $S = (-A)^{\nu}$, then

(1.8)
$$J_0 = \int_0^\infty e^{(b_0 + \alpha(A))t} dt = \frac{1}{|b_0 + \alpha(A)|}$$
 and $J(S) \leq J_\nu = \int_0^\infty e^{b_0 t} \varphi_\nu(A, t) dt$,

provided that $\alpha(A) + b_0 < 0$.

2. Proof of Theorem 1.1

Lemma 2.1. Let A generate an analytic semigroup $(e^{At})_{t\geq 0}$ and B(r) map Dom(A) into itself for all $r \geq 0$. In addition, let there be a linear operator S with $\text{Dom}(S) \supseteq \text{Dom}(A)$ having a bounded left-inverse one S_l^{-1} such that Se^{At} be integrable on each finite interval, and the conditions (1.6) and

$$\int_0^t \|e^{sA}\| \|Se^{sA}\| \, ds < \infty \quad (0 < t < \infty)$$

hold. Then with the notation

$$[e^{At}, B(r)] := e^{tA}B(r) - B(r)e^{At} \quad (t, r \ge 0),$$

one has

$$\left[\mathrm{e}^{At}, B(r)\right] = \int_0^t \mathrm{e}^{sA} K(r) \mathrm{e}^{(t-s)A} \,\mathrm{d}s \quad (0 \leqslant t, r < \infty).$$

In addition,

$$\|[e^{At}, B(r)]\| \leq m(K(\cdot), S) \int_0^t \|e^{sA}\| \|Se^{(t-s)A}\| ds \quad (0 \leq t, r < \infty)$$

and $[e^{At}, B(r)]$ maps Dom(A) into itself.

Proof. In this proof for a fixed r > 0, for the brevity we put B(r) = B and K(r) = K. Condition (1.6) implies

$$\begin{split} \left\| \int_0^t \mathrm{e}^{sA} K \mathrm{e}^{(t-s)A} \, \mathrm{d}s \right\| &= \left\| \int_0^t \mathrm{e}^{sA} K S_l^{-1} S \mathrm{e}^{(t-s)A} \, \mathrm{d}s \right\| \\ &\leqslant m(K(\cdot), S) \int_0^t \| \mathrm{e}^{sA} \| \| S \mathrm{e}^{(t-s)A} \| \, \mathrm{d}s \\ &\leqslant m(K(\cdot), S) \max_{s \leqslant t} \| \mathrm{e}^{sA} \| \int_0^t \| S \mathrm{e}^{(t-s)A} \| \, \mathrm{d}s < \infty. \end{split}$$

So the operator $\int_0^t e^{sA} K e^{(t-s)A} ds$ is bounded for all finite t. On Dom(A) we have

$$\int_{0}^{t} e^{sA} K e^{(t-s)A} ds = \int_{0}^{t} e^{sA} (AB - BA) e^{(t-s)A} ds$$
$$= \int_{0}^{t} (e^{sA} AB e^{(t-s)A} - e^{sA} BA e^{(t-s)A}) ds$$
$$= \int_{0}^{t} \left(\frac{\partial}{\partial s} e^{sA} B e^{(t-s)A} + e^{sA} B \frac{\partial}{\partial s} e^{(t-s)A} \right) ds$$
$$= \int_{0}^{t} \frac{\partial}{\partial s} (e^{sA} B e^{(t-s)A}) ds = e^{At} B - B e^{At},$$
d.

as claimed.

For an operator function Z(t,s) defined and uniformly bounded on $0 \le s \le t \le \infty$ set $||Z||_C := \sup_{t \ge s \ge 0} ||Z(t,s)||$.

Lemma 2.2. Let X(t, s) be the evolution operator of (1.1), and with the notations $W(t, s) = \exp[A(t-s)]U_B(t, s)$ and

$$H(t,s) := [e^{A(t-s)}, B(t)]U_B(t,s) \quad (t \ge s \ge 0),$$

let $||W||_C < \infty$ and

(2.1)
$$\zeta(H) := \sup_{s} \int_{s}^{\infty} \|H(t,s)\| \, \mathrm{d}t < 1.$$

Then the inequalities

(2.2)
$$||X||_C \leq \frac{||W||_C}{1-\zeta(H)}$$

and

(2.3)
$$||X - W||_C \leq \frac{\zeta(H) ||W||_C}{1 - \zeta(H)}$$

are valid.

Proof. Note that for all $h \in Dom(A)$ we have

(2.4)
$$\frac{\mathrm{d}X(t,s)h}{\mathrm{d}t} = (A+B(t))X(t,s)h$$

and

(2.5)
$$\frac{\mathrm{d}W(t,s)h}{\mathrm{d}t} = (A\mathrm{e}^{A(t-s)}U_B(t,s) + \mathrm{e}^{A(t-s)}B(t)U_B(t,s))h$$
$$= ((A+B(t))\mathrm{e}^{A(t-s)}U_B(t,s) + \mathrm{e}^{A(t-s)}B(t)U_B(t,s)$$
$$-B(t)\mathrm{e}^{A(t-s)}U_B(t,s))h$$
$$= (A+B(t))W(t,s)h + H(t,s)h.$$

Due to Lemma 2.1, operator H(t, s) is bounded for all finite t, s and maps Dom(A) into itself. Subtracting (2.4) from (2.5), on Dom(A) we get

$$\frac{\mathrm{d}(W(t) - X(t))}{\mathrm{d}t} = (A + B(t))(W(t,s) - X(t,s)) + H(t,s).$$

Making use of the variation of constants formula, (see [14], Theorem II.3.1) we can write

$$(W(t,s) - X(t,s))h = \int_s^t X(t,s_1)H(s_1,s)h\,\mathrm{d}s_1 \quad \forall h \in \mathrm{Dom}(A).$$

Since Dom(A) is dense in \mathcal{X} , and W(t,s), X(t,s) and H(t,s) are bounded, we can write

$$W(t,s) - X(t,s) = \int_{s}^{t} X(t,s_{1})H(s_{1},s) \,\mathrm{d}s_{1}.$$

Consequently,

(2.6)
$$||W(t,s) - X(t,s)|| \leq \int_{s}^{t} ||X(t,s_{1})|| ||H(s_{1},s)|| \, \mathrm{d}s_{1},$$

and therefore,

$$||X(t,s)|| \leq ||W(t,s)|| + \int_{s}^{t} ||X(t,s_{1})|| ||H(s_{1},s)|| \, \mathrm{d}s_{1}.$$

Hence, for any finite t > s we obtain

$$\sup_{0 \leqslant s \leqslant v \leqslant t} \|X(v,s)\| \leqslant \|W\|_C + \sup_{0 \leqslant s \leqslant v \leqslant t} \|X(v,s)\|\zeta(H).$$

Now (2.1) implies (2.2). From (2.6) and (2.2), inequality (2.3) follows. This proves the lemma. $\hfill \Box$

Proof of Theorem 1.1. By (1.4),

$$\int_{s}^{\infty} \|H(t,s)\| \, \mathrm{d}t \leqslant c_0 \int_{s}^{\infty} \mathrm{e}^{b_0(t-s)} \|[\mathrm{e}^{A(t-s)}, B(t)]\| \, \mathrm{d}t \leqslant c_0 \int_{0}^{\infty} \mathrm{e}^{b_0 v} \|[\mathrm{e}^{Av}, B(v+s)]\| \, \mathrm{d}v.$$

Inequality (2.2) means that (1.1) is Lyapunov stable, i.e., there is a constant $m_1 \ge 1$, independent of the initial vector, such that $||y(t)|| \le m_1 ||y(0)||$ $(t \ge 0)$ for any solution y(t) of (1.1), see [6].

Furthermore, substitute

(2.7)
$$y(t) = u_{\varepsilon}(t)e^{-\varepsilon t} \quad (\varepsilon > 0)$$

into (1.1). Then

(2.8)
$$\frac{\mathrm{d}u_{\varepsilon}(t)}{\mathrm{d}t} = (A + B(t) + \varepsilon I)u_{\varepsilon}(t).$$

If ε is small enough, then conditions (1.4), (1.5) and (1.6) hold with $B(t) + \varepsilon I$ instead of B(t).

Applying our above arguments to equation (2.8) we can assert that it is Lyapunov stable: $||u_{\varepsilon}(t)|| \leq m_1 ||u_{\varepsilon}(0)||$ ($t \geq 0$). So due to (2.7), equation (1.1) is exponentially stable. This proves the theorem.

3. Equations with the Lipschitz property

In this section we illustrate Theorem 1.1 in the case when

(3.1)
$$||B(t) - B(t_1)|| \leq q_0 |t - t_1| \quad (t, t_1 \geq 0; q_0 = \text{const.} > 0),$$

and

(3.2)
$$\|\exp[B(\tau)t]\| \leqslant p(t) \quad (t,\tau \ge 0),$$

where p(t) is a piecewise-continuous function independent of τ uniformly bounded on $[0, \infty)$.

Lemma 3.1. Let conditions (3.1), (3.2) and

(3.3)
$$\theta_0 := q_0 \int_0^\infty t p(t) \,\mathrm{d}t < 1$$

hold. Then the evolution operator $U_B(t,s)$ of (1.3) satisfies the inequality

$$\sup_{t \ge s} \|U_B(t,s)\| \le \frac{\chi}{1-\theta_0} \quad (t \ge s \ge 0),$$

where $\chi := \sup_{t \ge 0} p(t)$.

Proof. Equation (1.3) can be rewritten in the form

$$\frac{\mathrm{d}u(t)}{\mathrm{d}t} - B(\tau)u(t) + [B(t) - B(\tau)]u(t)$$

with an arbitrary fixed $\tau \ge 0$. This equation is equivalent to the following one:

$$u(t) = \exp[B(\tau)(t-s)]u(s) + \int_{s}^{t} \exp[B(\tau)(t-t_{1})][B(t_{1}) - B(\tau)]u(t_{1}) dt_{1}.$$

 So

$$\|u(t)\| \leq \|\exp[B(\tau)(t-s)]\| \|u(s)\| + \int_{s}^{t} \|\exp[B(\tau)(t-t_{1})]\| \|B(t_{1}) - B(\tau)\| \|u(t_{1})\| \,\mathrm{d}t_{1}.$$

According to (3.1) and (3.2),

$$||u(t)|| \leq p(t-s)||u(s)|| + q_0 \int_s^t p(t-t_1)|t_1 - \tau|||u(t_1)|| dt_1$$

With $\tau = t$, this relation gives us

$$||u(t)|| \leq p(t-s)||u(s)|| + q_0 \int_s^t p(t-t_1)(t-t_1)||u(t_1)|| dt_1.$$

Hence,

$$\sup_{s \leqslant t \leqslant T} \|u(t)\| \leqslant \chi \|u(s)\| + \sup_{s \leqslant t \leqslant T} \|u(t)\| \theta_0$$

for any positive finite T. By (3.3) we arrive at the inequality

$$\sup_{0 \leqslant t \leqslant T} \|u(t)\| \leqslant \frac{\chi \|u(s)\|}{1 - \theta_0}$$

Since the right-hand side of the latter inequality does not depend on T, we get the required inequality.

Under the hypothesis of Lemma 3.1, condition (1.4) holds with $b_0 = 0$ and $c_0 = \chi/(1 - \theta_0)$, hence Theorem 1.1 implies:

Corollary 3.2. Let conditions (1.6), (3.1) and (3.2) hold. Let

$$\hat{J}(S) := \frac{\chi}{1 - \theta_0} \int_0^\infty \|S e^{At}\| \, \mathrm{d}t < \infty \quad \text{and} \quad \hat{J}_0 := \int_0^\infty \|e^{At}\| \, \mathrm{d}t,$$

and

$$\frac{\chi m(K(\cdot),S)\hat{J}(S)\hat{J}_0}{1-\theta_0} < 1.$$

Then equation (1.1) is exponentially stable.

For estimates for the exponential function of various finite and infinite dimensional operators, see for example [10].

4. Example

Consider the problem

(4.1)
$$\frac{\partial u(t,x)}{\partial t} = \frac{\partial^2 u}{\partial x^2}(t,x) + M(t,x)u(t,x) \quad (0 < x < 1),$$

(4.2)
$$u(t,0) = u(t,1) = 0 \quad (t>0).$$

where $M(t,x) = (m_{jk}(t,x))$ is a variable real $n \times n$ -matrix function defined and uniformly bounded on $[0,\infty) \times [0,1]$, twice continuously differentiable in x and continuous in t.

Take $\mathcal{X} = L^2([0,1]; \mathbb{C}^n)$ – the Hilbert space of *n*-vector valued functions defined on [0,1] with the scalar product

$$(v,w) = \int_0^1 (v(x), w(x))_n \, \mathrm{d}x \quad (v,w \in L^2([0,1];\mathbb{C}^n)),$$

where $(\cdot, \cdot)_n$ is the scalar product in \mathbb{C}^n . For the brevity put $L_n^2 = L^2([0, 1]; \mathbb{C}^n)$ and take

$$(Af)(x) = f''(x)$$
 and $(B(t)f)(x) = M(t,x)f(x)$ $(f \in \text{Dom}(A), 0 \le x \le 1)$

and $S = (-A)^{1/2}$ with

$$Dom(A) = H^2(0,1)^n \cap H^1_0(0,1)^n = \{h \in L^2_n : h'' \in L^2_n, h(0) = h(1) = 0\}.$$

Then $(K(t)f)(x) = M_{xx}''(t,x)f(x) + 2M_x'(t,x)f'(x)$. Obviously,

$$e_{k,j}(x) = \sqrt{2}\sin(\pi kx)e_j \quad \forall j = 1,\dots,n_s$$

where $\{e_j\}_{j=1}^n$ is the standard basis in \mathbb{C}^n , are the eigenfunctions of A of the algebraic multiplicity n, $P_{kj} = (\cdot, e_{k,j})e_{k,j}$ are the eigen-projections of A and $-\pi^2 k^2$ (k = 1, 2, ...) are its eigenvalues of multiplicity n. We have

$$A = -\pi^2 \sum_{j=1}^n \sum_{j=1}^\infty k^2 P_{kj}, \quad (-A)^{1/2} = \pi \sum_{j=1}^n \sum_{j=1}^\infty k P_{kj} \quad \text{and} \quad e^{At} = \sum_{j=1}^n \sum_{j=1}^\infty e^{-\pi^2 k^2 t} P_{kj},$$

and by (1.8)

(4.3)
$$\|(-A)^{1/2} e^{At}\| = \varphi_{1/2}(A, t).$$

where

$$\varphi_{1/2}(A,t) = \begin{cases} \frac{1}{\sqrt{2t}} e^{-1/2} & \text{if } t \leq \frac{1}{2\pi^2}, \\ \pi e^{-\pi^2 t} & \text{if } t \geq \frac{1}{2\pi^2}. \end{cases}$$

In addition, $\|(-A)^{-1/2}\| = \|S^{-1}\| = 1/\pi$, and by Green's formula we have

$$\left(\frac{\mathrm{d}}{\mathrm{dx}}S^{-1}f, \frac{\mathrm{d}}{\mathrm{dx}}S^{-1}f\right) = -\left(\frac{\mathrm{d}^2}{\mathrm{dx}^2}S^{-1}f, S^{-1}f\right) = -(AS^{-1}f, S^{-1}f).$$

As S^{-1} is selfadjoint and commutes with A, this yields

$$\left(\frac{\mathrm{d}}{\mathrm{dx}}S^{-1}f, \frac{\mathrm{d}}{\mathrm{dx}}S^{-1}f\right) = -(AS^{-2}f, f) = (f, f),$$

and therefore, for any $f \in \text{Dom}(A)$ with ||f|| = 1 we obtain

$$||K(t)S^{-1}f|| = \left| ||M_{xx}''(t,\cdot)S^{-1}f + 2M_x'(t,\cdot)\frac{\mathrm{d}}{\mathrm{dx}}S^{-1}f| \right|$$

$$\leqslant \sup_x (||M_{xx}''(t,x)||_n ||S^{-1}|| + 2||M_x'(t,x)||_n)$$

Here $\|\cdot\| = \sqrt{(\cdot, \cdot)}$ is the norm in L^2_n and $\|\cdot\|_n$ is the norm in \mathbb{C}^n . Suppose that

(4.4)
$$\widehat{m}(K(\cdot), M) := \sup_{x,t} \left(\frac{1}{\pi} \| M_{xx}''(t,x) \|_n + 2 \| M_x'(t,x) \|_n \right) < \infty.$$

Then $m(K(\cdot), S) = \sup_{t} \|K(t, \cdot)S^{-1}\| \leqslant \widehat{m}(K(\cdot), M)$. Consider the vector equation

(4.5)
$$\frac{\partial v}{\partial t} = M(t, x)v \quad (v = v(t, x), \ 0 < x < 1).$$

Assume that there are constant q_M independent of x and a piecewise-continuous function $p_M(t)$ independent of s and x, and uniformly bounded on $[0, \infty)$ such that

(4.6)
$$||M(t,x) - M(t_1,x)||_n \leq q_M |t - t_1| \quad (t,t_1 \geq 0; q_M = \text{const.} > 0),$$

(4.7)
$$\|\exp[M(\tau, x)t]\| \leqslant p_M(t) \quad (t, \tau \ge 0; \ 0 \leqslant x \leqslant 1)$$

and

(4.8)
$$\theta_M := q_M \int_0^\infty t p_M(t) \, \mathrm{d}t < 1$$

hold. Then due to Lemma 3.1 the evolution operator $U_M(t,s)$ of (4.5) satisfies the inequality

$$||U_M(t,s)||_n \leqslant \frac{\chi_M}{1-\theta_M} \quad (t \ge s \ge 0),$$

where $\chi_M := \sup_{t \ge 0} p_m(t)$. Hence, condition (1.4) holds with $b_0 = 0$ and $c_0 = \chi_M/(1-\theta_M)$. Thus,

$$\hat{J}_0 = \int_0^\infty \|\mathbf{e}^{At}\| \, \mathrm{d}t \leqslant \int_0^\infty \mathbf{e}^{-\pi^2 t} \, \mathrm{d}t = \frac{1}{\pi^2}$$

In addition, due to (4.3)

$$\hat{J}(S) = \int_0^\infty \|S e^{At}\| \, \mathrm{d} t \leqslant \hat{J}_{1/2}, \quad \text{where } \hat{J}_{1/2} := \int_0^\infty \varphi_{1/2}(A, t) \, \mathrm{d} t.$$

This integral is simply calculated. Now Corollary 3.2 yields:

Corollary 4.1. Let conditions (4.6)–(4.8) and

$$\frac{\chi_M m(K(\cdot), S) J_{1/2}}{(1 - \theta_M) \pi^2} < 1$$

hold. Then equation (4.1), (4.2) is exponentially stable.

Acknowledgements. I am very grateful to the reviewer of this paper for really deep and helpful remarks.

References

[1]	F. Alabau, P. Cannarsa, V. Komornik: Indirect internal stabilization of weakly coupled			
	evolution equations. J. Evol. Equ. 2 (2002), 127–150.	\mathbf{zbl}	MR (doi
[2]	D. Andrica, T. M. Rassias (eds.): Differential and Integral Inequalities. Springer Opti-			
	mization and Its Applications 151. Springer, Cham, 2019.	\mathbf{zbl}	MR	doi
[3]	C. Chicone, Y. Latushkin: Evolution Semigrous in Dynamical Systems and Differential			
	Equations. Mathematical Survey and Monographs 70. AMS, Providence, 1999.	\mathbf{zbl}	MR o	doi
[4]	A. Cialdea, F. Lanzara: Stability of solutions of evolution equations. Atti Accad. Naz.			
	Lincei, Cl. Sci. Fis. Mat. Nat., IX. Ser., Rend. Lincei, Mat. Appl. 24 (2013), 451–469.	\mathbf{zbl}	MR	doi
[5]	R. F. Curtain, J. C. Oostveen: Necessary and sufficient conditions for strong stability of			
	distributed parameter systems. Syst. Control Lett. 37 (1999), 11–18.	\mathbf{zbl}	MR (doi
[6]	Y. L. Daleckii, M. G. Krein: Stability of Solutions of Differential Equations in Banach			
	Space. Translations of Mathematical Monographs 43. AMS, Providence, 1974.	zbl	MR o	doi
[7]	V. Dragan, T. Morozan: Criteria for exponential stability of linear differential equations			
	with positive evolution on ordered Banach spaces. IMA J. Math. Control Inf. 27 (2010),			
[0]	267–307.	zbl	MR (doi
[8]	N. Fourrier, I. Lasiecka: Regularity and stability of a wave equation with a strong damp-			1.
[0]		zbl	MR o	d01
[9]	M. Gil': Integrally small perturbations of semigroups and stability of partial differential	-1-1		
[10]	equations. Int. J. Partial Differ. Equ. 2013 (2013), Article ID 207581, 5 pages.	zbl	doi	
[10]	<i>M. I. Gil'</i> : Operator Functions and Operator Equations. World Scientific, Hackensack, 2018.	-bl		d at
[11]	<i>M. I. Gil</i> ': Stability of evolution equations with small commutators in a Banach space.	ZDI	MR (101
[11]	Atti Accad. Naz. Lincei, Cl. Sci. Fis. Mat. Nat., IX. Ser., Rend. Lincei, Mat. Appl. 29			
	(2018), 589–596.	zbl	MR	doi
[19]	<i>M. I. Gil</i> ': Stability of linear equations with differentiable operators in a Hilbert space.	201	UVII U	101
[12]	IMA J. Math. Control Inf. 37 (2020), 19–26.	$\mathbf{z}\mathbf{b}\mathbf{l}$	MR (doi
[13]	D. Henry: Geometric Theory of Semilinear Parabolic Equations. Lectures Notes in Math-	2.01		101
[10]	ematics 840. Springer, Berlin, 1981.	$\mathbf{z}\mathbf{b}\mathbf{l}$	MR d	doi
	chiadros e lo, springer, Bernin, 1901.	201		401

[14] S. G. Krein: Linear Differential Equations in Banach Space. Translations of Mather	
ical Monographs 29. AMS, Providence, 1972.	$\mathbf{zbl} \mathbf{MR} \mathbf{doi}$
[15] H. Laasri, O. El-Mennaoui: Stability for non-autonomous linear evolution equations	with
L^p -maximal regularity. Czech. Math. J. 63 (2013), 887–908.	$\mathbf{zbl} \mathbf{MR} \mathbf{doi}$
[16] S. Nicaise: Convergence and stability analyses of hierarchic models of dissipative see	cond
order evolution equations. Collect. Math. 68 (2017), 433–462.	zbl MR doi
[17] J. Oostveen: Strongly Stabilizable Distributed Parameter Systems. Frontiers in App	olied
Mathematics 20. SIAM, Philadelphia, 2000.	zbl MR doi
[18] P. Pucci, J. Serrin: Asymptotic stability for nonautonomous dissipative wave syste	ems.
Commun. Pure Appl. Math. 49 (1996), 177–216.	zbl MR doi

Author's address: Michael Gil', Department of Mathematics, Ben Gurion University of the Negev, P.O. Box 653, Beer-Sheva 84105, Israel, e-mail: gilmi@bezeqint.net.